A = ol

AR g A A

A HIS1
I ME2el
S XAl 20t d= EEREED
SN - A - S9I(EH) - HMRAY - BES Ofl &t e HIDE2
NI 13t 341,430 335,723 5,707
NIE 2t 297,930 280,903 17,027
KA 21 - = 35,051 35,051 0
ANl S5 &4 9,856 9,856 0
201 B3| 9,856 9,856 0
01 At2telt] 9,856 9,856 0
OAIAlI XM (AL, Al SF) M
65,0003 x202 A 1,300
OAINl &= E2= 2,720
— BN (UUHE XS TS
70,0003 #5H Ax%22] 700
—ote 11,0002 #1004 2:+22] 220
— Q=2 1202 *15,0000H 1,800
OXNLASH S0 d& H32 2 5,836
—BAoH(QEHE e BUE)
70,0002 *5IH A x13] 350
—gztet 11,000 *1IH 2+ 12 1
—E2= 3503 5,5000H 1,925
—&l0HE HIS ¥ JIEARSE 1,600
—&=BUIIE £X1(01&)Y 200
—oAE ZFHS ANCHHE IMHIEE
g= 750
—IHIXISASAl 2EA D 24 U2
g2s =2 180 %2, 77721%23] 1,000
TH SEY €4 25,19% 25,19% 0
201 B3| 25,19% 25,19
01 AF22t2ltl 25,19% 25,19
OSEHSAM(FIIZ, S52) DXA 1,900
— I 382 %25,00004 950
—=g 382 *25,0000H 950
OMLA(EIIZ, S5E2) 1XIA 15,960
— XM= 382 *210,0000H 7,980
—£5 38&%210,00004 7,980
OFA OXM (R, AL S52) M
65,0003 252} A 1,625
OFAHl &8 EE= 3,210
—E0(EHE THEE TeE)
70,0003 *8H A-+33] 1,680
—lotE 11,0002 #1004 2:+33! 330
—QHH=2 1202%10,0000H 1,200
OXZA JHE el & 82 2,500
—OHHE X HEX 1202 %15,0000H4 1,800
—s=0 70,0003 #5IH 2-x22] 700
ANLAHE 22 262,879 245,852 17,027

323 -




SA: HR1D
Z: ME2
el ALNE 22 (e ®2l)
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
SEHC NLNE 22 262,879 245,852 17,027
201 Let2 Y| 146,118 142,895 3,223
01 AtR222lt| 15,852 12,629 3,223
OXIZA DA =2 ABE 5,800
—=AEX 20,0003 x20= A 400
—I2Ie &Y 250,000 *5CH*43] 5,000
—HAEH 200,000 *1CH*23] 400
OXIAl 221 B, AT S) 2,000
OF= BYE NYS S0 242
100&*7024*43] 28
OgMatd EX =& 1,670
—LU=EE 50&*7,0000H 350
—&HE& 602 *13,0000H 780
—EE 180& *3, 00004 540
ONESRE Zel Zely EY
250,000 *4LH*23] 2,000
ORFHMX Z2TH 60,5002 x10H 605
ONISAl HoNZESR A5
4,620 %20 93
Oz=HHIIE dEEX
220,0002 x 12 A 220
ORUZAA NEZSRRH stitSZAUs &
ot K& 1,500
O=AL| ext= 88,0003 x2CH* 113 1,936
02 =329l 130,266 130,266 0
OXIZA DA &8 RES 130,200
—&J|12 Ys 18,000,000 +63| 108,000
—=AZ ES 1,850,000 =123 22,200
OURET HIAY SM2
5,5003* 1 2+ 12& 66
203 LRF=&Y| 2,025 1,485 540
03 A FRIHRFAIY| 2,025 1,485 540
OXZME AIRFA JRFEH|
1,350,000& 0.9 1,215
OSELMT 4 2 X2
300,000&*0.9 270
OXZM dogga 48 2 X
600,000 *0.9 540
204 MR~ AY| 24,000 24,000
02 E3g23I 24,000 24,000
ONSIRE EFHRZH
100,000 20 123 24,000
301 LBtEHEZ 6,000 6,000
14 J|Et2 432 6,000 6,000

- 324 -




LA

A1t

I ME2el
el ALNE 22 (e ®2l)
SN - A - S9I(EH) - HMRAY - BES Ofl &t e HIDE2
OXIZAl Zolgga AIX 0o 24
100,000 20 2,000
O&EXIAX SHTHAIRY AR 20 24
5,0002*200F 23] 2,000
O+8T XAl 220l AR ZO! B4
5,000& 200 23] 2,000
303 Za= 1,000 500 500
01 Zat= 1,000 500 500
Os=SHMYd 2= = Zo2
50,000, 000 +5%+*40% 1,000
306 £H= 7,468 6,568 900
01 &= 7,468 6,568 900
OXZMNATR0 THEt RIgA &&= &
A3 7,468
308 XX HMSO0IA 76,268 69,572 6,6%
13 S| 2 SOIHEHE & & 2 EF AL 76,268 69,572 6,69%
OXIZLAl ZESAILBI(XIZAMAIAE 23
Sx=el) 76,268
HY2HZHI(HR11) 43,500 54,820 211,320
J12ZHI(NIS11) 43,500 54,820 211,320
J12ZHI(MS1DH) 43,500 54,820 211,320
201 g2 H| 19,490 15,650 3,840
01 At22teld] 19,490 15,650 3,840
ORAME2Z JlEEH| 2,000
OAIRI1Il 222 5,550
Otl2sz 420
OMIS1 22 =]
8,000 x20H+6A1x 122 11,520
202 O4d| 20,160 33,600 213,440
01 =LA 20,160 33,600 213,440
OMIS1t 2t &0
20,0003 20142 +128+0.3 20,160
203 FR=&IH| 3,600 3,600
M BPA2SLRF2| 3,600 3,600
ONS 11t 300,000& » 122 3,600
405 KHHE SH] 250 1,970 A1,720
01 TR EZFF SHI 250 1,970 21,720
OFE) 250,000 *1CH 250

- 325 -




